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Assignment 1 

 

1. The transfer function of the system is given by 𝐻(𝑆) =
1

𝑠2(𝑠−2)
. The 

inpulse response of the system is 

A. (𝑡2 ∗ 𝑒−2𝑡)𝑈(𝑡) 

B. (𝑡  ∗ 𝑒−2𝑡)𝑈(𝑡) 

C. (𝑡2𝑒−2𝑡)𝑈(𝑡) 

D. (𝑡  𝑒−2𝑡)𝑈(𝑡) 

 

2. The transfer function of the system is given by 𝐻(𝑆) =
1

𝑠(𝑠−2)
. The 

inpulse response of the system is 

A. (𝑡2 ∗ 𝑒−2𝑡)𝑈(𝑡) 

B. (𝑡  ∗ 𝑒−2𝑡)𝑈(𝑡) 

C. (𝑒−2𝑡)𝑈(𝑡) 

D. (𝑡  𝑒−2𝑡)𝑈(𝑡) 

 

3. Let X(t) be the input to the LTI system. The required output is 4x(t-

2).The transfer function of the system should be 

A. 4𝑒𝑗4𝜋𝑓 

B. 2𝑒−𝑗8𝜋𝑓 

C. 4𝑒−𝑗4𝜋𝑓 

D. 2𝑒𝑗8𝜋𝑓 

 

4. No. of step functions and ramp functions involve in the following signal 

respectively is__________ 
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A. 2,2 

B. 3,2 

C. 2,3 

D. 3,3 

 

5. ∫ (𝑡2 + 2)𝛿′(3𝑡 + 4) = _________________
∞

−∞
 

 

6. The period of a signal 𝛿(sin 𝑡) + 𝛿(cos 𝑡) is _______________ 

 

A. 𝜋 

B. 𝜋/2 

C. 3𝜋/2 

D. 2𝜋 

 

7. Energy of a signal 𝑒−4|𝑡| is __________________ 

 

8. Real Part of conjugte symmetric portion of a signal 𝑥(𝑡) = 𝑒(3+5𝑖)𝑡 is 

A. sin 3𝑡 sinh 5𝑡 

B. cos 3𝑡 cosh 5𝑡 

C. cos 5𝑡 cosh 3𝑡 

D. sin 5𝑡 sinh 5𝑡 

 

9. The given two signals x(t) and y(t) are related as,𝑦(𝑡) = 𝑥(𝑎𝑡 − 𝑏). The 

value of a is_______________ 
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10. Two signals x(t) and y(t) are defined as, 𝑥(𝑡) = 2[𝑢(𝑡) − 𝑢(𝑡 − 2)] and 

𝑦(𝑡) = 3[𝑢(𝑡 − 3) − 𝑢(𝑡 − 5)]. If 𝑧(𝑡) = 𝑥(𝑡) ∗ 𝑦(𝑡) then the area of 

z(t)=____________________ 

 

11. A Signal X(t) is given as follow, 

 

The power of the signal 𝑌(𝑡) = 𝑋(2𝑡 + 5) is _______________W 

 

12. A system with input – output relationship 

𝑦(𝑡) = 𝑥(𝑡) − 𝑥(𝑡 − 3)                                          𝑥(𝑡) ≥ 0 
= 0                                                                     𝑥(𝑡) < 0 

 

A. Linear & time variant 

B. Non-linear & time variant 

C. Linear & time invariant 

D. Non-linear & time invariant 

 

13. The step response of a system is given as, 

𝑠(𝑡) =
2

3
𝑢(𝑡) −

1

3
𝑒−3|𝑡| 

The impulse response of the system at t=-1 is __________________ 

 

 

14.  To an LTI system of impulse response ℎ[𝑛] = 𝛿[𝑛 + 2] − 𝛿[𝑛 − 2] an 

input 𝑥[𝑛] = 𝛿[𝑛 − 1] + 𝛿[𝑛 + 1] is applied. The frequency response of 

the system is in the following form: 𝑌(𝑒𝑗𝑤) = 𝑘[sin 𝐴Ω + sin 𝐵Ω] then 

A and B is___________ 

 


